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o Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

W

(1) All questions are compulsory.

(i) This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Section C is of 9 questions of three marks each and Section D
is of 3 questions of five marks each.

(i) There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 3 marks and two questions of
5 marks weightage. A student has to attempt only one of the alternatives
in such questions.

(tv)  Wherever necessary, the diagrams drawn should be neat and properly
labelled.

EUsE A
SECTION A

1. IR @ gaEd e 6 o 36t 2 2 3 we oo ot ww amw
AEEshar] $1 g gwr 9fd = & 2 :

What is a detritus food chain made up of ? How do they meet their energy
and nutritional requirements ?

Pl ease Visit www. ncerthel p.com For Video | ectures of all subjects Class 9 to 12



Visit www ncerthel p.com For Al NCERT sol uti ons,
ﬂ CBSE sanpl e papers, Question papers, Notes for Class 6 to 12

©wmeﬁ%ﬁﬁ%%nsm%mﬁﬂﬁmﬁmaﬁm?ﬁ%maﬁﬁﬁm?ﬁ
Bl ? 1

Why are green algae not likely to be found in the deepest strata of the
| ocean ?

8./ 39 UitHEAT 3N 36 Tk UH vafl 1 T Farse fed wie g 919 € uiahi
~ B Teh 41 SEaTl &9 5711 2 | 1

Name the phenomenon and one bird where the female gamete directly
develops into a new organism.

\/4/ UH1 % Bl @ 59 999 R § wfediads (3SRRw) e B 2 s
B2 1

When does a human body elicit an anamnestic response ?

5./ TR A it % T forfa o vt T ) R fem R A R g
Name any two diseases the ‘Himgiri’ variety of wheat is resistant to.
¢ T B % i mANA % dei § g 0 o w7
' State the role of transposons in sileneing of mRNA in eukaryotic cells.
@.- Tefeiiaa grn fom-fom yon i Saffvam sReffc 0 2, s fafen . 7
@) wra d = 1000 R |
Gi) Temrem % fofte ast & 37 @ daiovw gz § Wit i sEe
a1 Figyl % Feyl H urg S el fafirand |
Name the type of biediversity represented by the following :
(1) 1000 varieties of mangoes in India. 5

.{ii} Variations in terms of potency and concentration of reserpine in
Rauwolfia vomitoria growing in different regions of Himalayas.

] o e (e ws) @ A e e e dde e
I9E =1 FATE 9491 3 S @ 2 i

Why is the use of unleaded petrol recommended for motor vehicles
equipped with catalytic converters ?
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“It is possible that a species may occupy more than one trophic level in
the same e tem at the same time.” Explain with the help of one
example. i - Ty

“Tageita sefa” sl @ w0 AfYug R 2 Tl o T 919 6 aon T v
grofl <kl TeTfa 1 AW foge S i oo widE Ssa genfaal & fou
| R | 2

8

What is meant by “alien species” invasion ? Name one plant and one
animal alien species that are a threat to our Indian native species.

11,/ NS Staifeh sEE G R SediEs St % fid gifsa DNA @2 #
TI9 U H ST 1 9TH are e = r fafte fafen | 2

Write any four ways used to introduce a desired DNA segment into a
bacterial cell in recombinant technology experiments.

S

A3 SISgieH i 7 T8 F41 fean ™ ? ggied 5 e v Rm Edi 2 2 2
Why is proinsulin so called ? How is insulin different from it ?
13.  SAasTSl % THTEs ARG B Hiat 55 &) BINhI iR S5y | 2

Differentiate between the two cells enclosed in. a mature male
gametophyte of an angiosperm.

UF UH "l h1 fZEE @Sy HE ua 9d 6% 5 U 9 Heluey &

S

ST F1 2 | 39 FHR % JHRU F 9 TR | 2
Work out a cross to find the genotype of a tall E@t. Name the type of
Ccross. =
\1}/ 92El W HigT & IgHa + faw # iifE wE wwea & uftmewn faflan |
Y Sewi-fue favem @ 39 gferes T bt forg R TmeE e @ 2 g

Write the Oparin and Haldane’s hypothesis about the origin of llfe on Yo
Earth. How does meteorite analysis favour this hypothesis ?
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w9 w1 foRefl geien & arg Afth FE Fewe T & A WH AR B, 9@ 3
yfgarfey (Ceifead) 1 soiFe 991 o Sl 2 ?
rite the events that take place when a vacecine for any disease is
introduced into the human body.

OR
Why is a person with cuts and bruises following an accident administered
tetanus antitoxin ? Give reasons.

17. “fm o & i@ 9292 guE 9g & 9 Siam] (SRiEE) ®1 9M
/ fafian | 37 gumEi o o0 B 1 F1 HR0 B ? 2
Name the bacterium responsible for the large holes seen in “Swiss

Cheese”. What are these holes due to ?

PCR %1% H sATe 96U 9H Iei DNA Yielimis & @[ &1 9 fafae |
TS THH] ITAN HT Fomar Sar 2 | 2

Name the source of the DNA polymerase used in PCR techmque Mention
why it is used. --

@us C
SECTION C
y{a} TE S % AEaeE TFRED & ER &9 § DNA 9g&9dl %
oo O wHERY 1
(b) DNA fEmfifén § VNTR i s sase | ' 3

£ Explain DNA polymorphism as the basis of genetic mapping of
human genome.

/(b} State the role of VNTR in DNA fingerprinting.
30, /e # s s B B wR At % iR fatE (Jue vEl aw)
J maﬁmﬁq&ﬁawg‘é Ty | "3
Explain the increase in the numbers of melanic (dark winged) moths in
the urban areas of post-industrialisation period in England.

21. HiHIHd AGH (Tawl) ¥ THENE F HE THR IeaeT H @ 8 2 9+

- HH Hl g SRy | 3
Describe how biogas is generated from activated sludge. List the
/ components of biogas. . "
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(b) HHel H koA i UBRAT 3 g1 FEEE % vy ° wmwmEy |
(a) Draw a L.S. of a pistil showing pollen tube entering the embryo-sac

o in an angiosperm and label any six parts other than stigma, style
and ovary. :

(b)  Write the changes a fertilized ovule undergoes within the ovary in
an angiosperm plant. :

. OR
(a) Draw a diagrammatic sectional view of a human seminiferous
\ tubule, and label Sertoli. cells, primary spermatocyte,

spermatogonium and spermatozoa in it.

L}/ Explain the hormonal regulation of the process of spermatogenesis

in humans.

30, VRS O < UERAT R EEldiMeT Hqor fHE NHR SWIEQ Bl 8 7
= THATET | 39 Tdo 1 ey S 9 IR 3 SR AR | 5
| sreran
(a) o TH IYYH IS AL sy, {6 Hew 1 T 9eged 1w
w1 B R
(b) T Frm % ded # glaifeor 1 dwmifa ufted # 31 I fomem &
AT 3 fRE TR SRR 2
How does the process of natural selection affect Hardy-Weinberg
equilibrium ? Explain. List the other four factors that disturb the
equilibrium.
OR

(a)  Explain Mendel's law of independent assortment by taking a
suitable example.

{b)f How did Morgan show the deviation in inheritance pattern in
7  Drosophila with respect to this law ?
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